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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Trend plot forP3-7 0
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P3-7

BfE) | GEBAK(F) | ERE(EAH/K) (XS R

02:05 109 70.0 A Bi%@02:05 (FKFERSE)
03:05 109 70.0 & 7iE@03:05 (AR FA1EEES)
04:05 109 70.0 & FnHfe04:05 (KRFEERES)
07:30 109 70.0 & FiHR@07:30 (RFEfERLEE)
09:30 109 70.0 & FiHA@09:30 (KRHA{EREZR)
10:50 109 70.0 & FiHA@10:50 (KRBfERSE)
12:00 109 70.0 5 FiHf@12:00 (KAL)
13:10 109 70.0 & FRHA@13:10 (REAERHSE)
14:25 109 70.0 i FnHfe14:25 (REERSS)
16:00 109 70.0 5 FiHA@16:00 (KRFA{ERSE)
E3t+]1090.0 (100%) 700.0 EWGHKEC: 1900.0, PH: 6.5

RE R B RECHIR TR K.
RER BB HREC/PHIEER K, FIRERIMIRELR SR
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P3-7

BfiE) | EBIET (FD) | EE (EH/AR) | XK R
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13:40 120 80.0 5 Bi%@13:40 (KREERZE)
15:30 120 80.0 |Z = B1%015:30 (REERSE)
=23t| 840.0 (7% 560. 0 3EGHKEC: 1900.0, PH: 6.5

large discrepency for begining water status (130:270.0), set to 158.0 ml.
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P3-7

Bfig) | JEBATK (FD) | ERE (AR | KR R

06:45 180 90.0 = B1%@06:45 (KRFERSE)
07:45 180 90.0 = B318@07:45 (KRFERLEE)
10:30 180 90.0 5 B1%010:30 (RFERSE)
12:40 180 90.0 & Bi%@12:40 (REERSE)
14:30 180 90.0 5 B2i8@14:30 (KREEREE)
Bit| 900.0 (5%) 450.0 3ZFHKEC: 1900.0, PH: 6.5

LRGERRETIC (180. 0) 57HE (141. 0) 7, WREH T S AREERS E XERR
ZRIAKPREBE115. 0 ml.

large discrepency for begining water status (114:267.0), set to 145.0 ml.
BE R i3t Bl RECEIRE ER K.

FEREBLFHEREC/PHETLK, FIRERNEERSR
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P3-7

BYE) | GEBERTIC (B)) | EBE (EAH/#) | XS R

06:45 210 90.0 | =& 318006 :45 (KRFEREE)
07:45 210 90.0 |Z = Bi&@07:45 (KRFERSE)
10:50 210 90.0 FA BRi%e10:50 (RFIFERER)
14:10 210 90.0 | =& BRi&@14:10 (RFERES)
2it| 840.0 (4%) 360. 0 3ZHIKEC: 1912.0, PH: 6.5

LRGERRETC (210. 0) 57HE (138. 0) °FF, FIREH T & AREERS £ XEHR
ZRIAKPREBRE136. 0 ml.

large discrepency for begining water status (127:267.0), set to 155.0 ml.
BE R i3t Bl RECEIRE ER K.

REREBFHHEREC/PHETR K, AIREZINIRELRTR
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P3-7

Bria) | GEBRRTIC (FD) | El= (BH/HK) | XS TR

09:00 210 130.0 5 BRi%@09:00 (KRFFEREE)
12:10 210 130.0 = BRi%e12:10 (RAEAMERSE)
=2it| 420.0 (2%) 260.0 $3#KEC: 1900.0, PH: 6.5

large discrepency for begining water status (67:276.0), set to 109.0 ml.
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FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=5 (2025-04-03)
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